

ON A CERTAIN INEQUALITY USED IN THE THEORY OF DIFFERENCE EQUATIONS

B. G. PACHPATTE*

Received: April 12, 1994

AMS subject classification: 26D15, 26D20

REZUMAT. - *Asupra unei inegalități folosite în teoria ecuațiilor cu diferențe. Sunt stabilite câteva noi inegalități cu diferențe finite legate de o inegalitate folosită în teoria ecuațiilor cu diferențe.*

Abstract. In the present paper we establish some new finite difference inequalities related to a certain inequality used in the theory of difference equations. The inequalities established here can be used as tools in the qualitative analysis of certain new classes of difference and sum-difference equations.

Introduction. In a recent paper [4, p.250] Mate and Navai used the following inequality while extending the well known results established by H. Poincaré in [9].

LEMMA. *Let $u(n) \geq 0$, $p(n) \geq 0$ be real-valued functions defined on integers and let $c \geq 0$ be a real constant. If*

$$u(n) \leq c + \sum_{s=n+1}^{\infty} p(s) u(s),$$

then

$$u(n) \leq c \exp \left(\sum_{s=n+1}^{\infty} p(s) \right).$$

Finite difference inequalities of this type are most useful in the qualitative analysis of various classes of difference equations. In the past few years, many papers on finite difference

* Marathwada University, Department of Mathematics, Aurangabad 431004 (Maharashtra) India

inequalities of the above type and their applications have appeared in the literature, see [1-8, 10] and the references given therein. In view of the important role played by such inequalities in the study of difference equations, it is natural to expect that some new finite difference inequalities of the type given in Lemma, would also be equally important in certain new applications. The main purpose of the present paper is to establish some new finite difference inequalities of the type given in Lemma, which can be used as tools in the analysis of certain new classes of difference and sum-difference equations for which earlier inequalities fail to apply directly. An application to obtain a bound on the solution of a certain sum-difference equation is also given.

2. Statement of results. In what follows we let $N_0 = \{0, 1, 2, \dots\}$ and use the notations m, n, p, q to denote the elements of N_0 . Let R denote the set of real numbers and $R_+ = [0, \infty)$. For $n > m, n, m \in N_0$ and any function $h: N_0 \rightarrow R_+$ we use the usual conventions $\sum_{s=n}^m h(s) = 0$ and $\prod_{s=n}^m h(s) = 1$. Throughout, without further mention, we assume that all the sums and products converge on the respective domain of their definitions.

Our main results are given in the following theorems.

THEOREM 1. *Let $u(n), f(n), g(n), h(n)$ be functions defined on N_0 into R_+ , and $c \geq 0$ be a real constant.*

(i) *If*

$$u^2(n) \leq c^2 + 2 \sum_{s=n+1}^{\infty} [f(s)u^2(s) + h(s)u(s)], \quad n \in N_0, \quad (1)$$

then

$$u(n) \leq c \prod_{t=n+1}^{\infty} [1 + f(t)] + \sum_{s=n+1}^{\infty} h(s) \prod_{t=n+1}^{s-1} [1 + f(s)], \quad n \in N_0, \quad (2)$$

(ii) *If*

$$u^2(n) \leq c^2 + 2 \sum_{s=n+1}^{\infty} \left[f(s)u(s) \left(u(s) + \sum_{t=s+1}^{\infty} g(t)u(t) \right) + h(s)u(s) \right], n \in N_0, \quad (3)$$

then

$$u(n) \leq c \sum_{t=n+1}^{\infty} [1 + f(t) + g(t)] + \sum_{s=n+1}^{\infty} h(s) \cdot \prod_{t=n+1}^{s-1} [1 + f(t) + g(t)], n \in N_0. \quad (4)$$

(iii) If

$$u^2(n) \leq c^2 + 2 \sum_{s=n+1}^{\infty} \left[f(s)u(s) \left(\sum_{t=s+1}^{\infty} g(t)u(t) \right) + h(s)u(s) \right], n \in N_0, \quad (5)$$

then

$$u(n) \leq c \sum_{t=n+1}^{\infty} \left[1 + f(t) + \sum_{\tau=t+1}^{\infty} g(\tau) \right] + \sum_{s=n+1}^{\infty} h(s) \prod_{t=n+1}^{s-1} \left[1 + f(t) + \sum_{\tau=t+1}^{\infty} g(\tau) \right], n \in N_0. \quad (6)$$

THEOREM 2. Let $u(m,n)$, $f(m,n)$, $g(m,n)$, $h(m,n)$ be functions defined for $m,n \in N_0$ into R , and $c \geq 0$ is a real constant.

(iv) If

$$u^2(m, n) \leq c^2 + 2 \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} [f(s, t) u^2(s, t) + h(s, t) u(s, t)], m, n \in N_0, \quad (7)$$

then

$$u(m, n) \leq \phi(m, n) \prod_{s=m+1}^{\infty} \left[1 + \sum_{t=n+1}^{\infty} f(s, t) \right], m, n \in N_0, \quad (8)$$

where

$$\phi(m, n) = c + \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} h(s, t). \quad (9)$$

(v) If

$$u^2(m, n) \leq c^2 + 2 \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} [f(s, t) u(s, t) (u(s, t) + \sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) u(x, y)) + h(s, t) u(s, t)], m, n \in N_0, \quad (10)$$

then

$$u(m, n) \leq \phi(m, n) \prod_{s=m+1}^{\infty} \left[1 + \sum_{t=n+1}^{\infty} [f(s, t) + g(s, t)] \right], m, n \in N_0, \quad (11)$$

where $\phi(m,n)$ is defined as in (9).

(vi) If

$$u^2(m,n) \leq c^2 + 2 \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} \left[f(s,t)u(s,t) \left(\sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x,y)u(x,y) \right) + h(s,t)u(s,t) \right], \quad m,n \in N_0, \quad (12)$$

then

$$u(m,n) \leq \phi(m,n) \prod_{s=m+1}^{\infty} \left[1 + \sum_{t=n+1}^{\infty} f(s,t) \left(\sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x,y) \right) \right], \quad m,n \in N_0, \quad (13)$$

where $\phi(m,n)$ is defined as in (9).

3. Proofs of theorems 1 and 2. Since the proofs of (i)-(vi) resemble one another, we give the details for (ii) and (vi) only, the proofs of the remaining inequalities can be completed by following the proofs of (ii) and (vi).

(ii) Define a function $z(n)$ by

$$z(n) = (c + \epsilon)^2 + 2 \sum_{s=n+1}^{\infty} \left[f(s)u(s) \left(u(s) + \sum_{t=s+1}^{\infty} g(t)u(t) \right) + h(s)u(s) \right], \quad (14)$$

where $\epsilon > 0$ is an arbitrary small constant. From (14) and using the fact that $u(n+1) \leq \sqrt{z(n+1)}$, $n \in N_0$, we observe that

$$z(n) - z(n+1) \leq 2\sqrt{z(n+1)} \left[f(n+1)(\sqrt{z(n+1)} + \sum_{t=n+2}^{\infty} g(t)\sqrt{z(t)} + h(n+1)) \right]. \quad (15)$$

Using the facts that $\sqrt{z(n+1)} > 0$, $\sqrt{z(n+1)} \leq \sqrt{z(n)}$ for $n \in N_0$ and (15) we observe that

$$\begin{aligned} \sqrt{z(n)} - \sqrt{z(n+1)} &= \frac{z(n) - z(n+1)}{\sqrt{z(n)} + \sqrt{z(n+1)}} \leq \frac{z(n) - z(n+1)}{2\sqrt{z(n+1)}} \\ &\leq f(n+1) \left(\sqrt{z(n+1)} + \sum_{t=n+2}^{\infty} g(t)\sqrt{z(t)} \right) + h(n+1). \end{aligned} \quad (16)$$

Define a function $v(n)$ by

$$v(n) = \sqrt{z(n)} + \sum_{t=n+1}^{\infty} g(t)\sqrt{z(t)}. \quad (17)$$

From (17) and (16) it is easy to observe that

$$v(n) - [1 + f(n+1) + g(n+1)]v(n+1) \leq h(n+1). \quad (18)$$

Now multiplying (18) by $\prod_{t=n+1}^m [1 + f(t) + g(t)]^{-1}$, for an arbitrary $m \in N_0$, then setting $n = s$ and taking the sum over $s = n, n+1, \dots, m-1$ we obtain

$$v(n) \prod_{t=n+1}^m [1 + f(t) + g(t)]^{-1} \leq v(m) + \sum_{s=n+1}^m h(s) \prod_{t=s}^m [1 + f(t) + g(t)]^{-1}. \quad (19)$$

From (19) we have

$$v(n) \leq v(m) \prod_{t=n+1}^m [1 + f(t) + g(t)] + \sum_{s=n+1}^m h(s) \prod_{t=n+1}^{s-1} [1 + f(t) + g(t)]. \quad (20)$$

Noting that $\lim_{m \rightarrow \infty} v(m) = \lim_{m \rightarrow \infty} \sqrt{z(m)} = c + \epsilon$ and letting $m \rightarrow \infty$ in (20) we get

$$v(n) \leq (c + \epsilon) \prod_{t=n+1}^{\infty} [1 + f(t) + g(t)] + \sum_{s=n+1}^{\infty} h(s) \sum_{t=n+1}^{s-1} [1 + f(t) + g(t)]. \quad (21)$$

The required inequality in (4) now follows from (21) and using the facts that $u(n) \leq \sqrt{z(n)}$ and $\sqrt{z(n)} \leq v(n)$ and by taking $\epsilon \rightarrow 0$.

(vi) Define a function $z(m, n)$ by

$$z(m, n) = (c + \epsilon)^2 + 2 \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} \left[f(s, t) u(s, t) \cdot \left(\sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) u(x, y) \right) + h(s, t) u(s, t) \right], \quad (22)$$

where $\epsilon > 0$ is an arbitrary small constant. From (22) and using the facts that $u(m, n) \leq \sqrt{z(m, n)}$ for $m, n \in N_0$, we observe that

$$\begin{aligned} & [z(m, n) - z(m+1, n)] - [z(m, n+1) - z(m+1, n+1)] \\ & \leq 2\sqrt{z(m+1, n+1)} \left[f(m+1, n+1) \left(\sum_{x=m+2}^{\infty} \sum_{y=n+2}^{\infty} g(x, y) \sqrt{z(x, y)} \right) + h(m+1, n+1) \right]. \quad (23) \end{aligned}$$

Using the facts that $\sqrt{z(m, n)} > 0$, $\sqrt{z(m, n+1)} \leq \sqrt{z(m, n)}$, $\sqrt{z(m+1, n+1)} \leq \sqrt{z(m+1, n)}$,

$\sqrt{z(m+1, n+1)} \leq \sqrt{z(m, n+1)}$ for $m, n \in N_0$, we observe that (see, [7, p.379])

$$\left[\sqrt{z(m, n)} - \sqrt{z(m+1, n)} \right] = \frac{[z(m, n) - z(m+1, n)]}{\left[\sqrt{z(m, n)} + \sqrt{z(m+1, n)} \right]},$$

and

$$\begin{aligned} & \left[\sqrt{z(m, n)} - \sqrt{z(m+1, n)} \right] - \left[\sqrt{z(m, n+1)} - \sqrt{z(m+1, n+1)} \right] \\ & \leq \frac{[z(m, n) - z(m+1, n)] - [z(m, n+1) - z(m+1, n+1)]}{\left[\sqrt{z(m+1, n+1)} + \sqrt{z(m+1, n+1)} \right]}. \end{aligned} \quad (24)$$

From (24) and (23) we observe that

$$\begin{aligned} & \left[\sqrt{z(m, n)} - \sqrt{z(m+1, n)} \right] - \left[\sqrt{z(m, n+1)} - \sqrt{z(m+1, n+1)} \right] \\ & \leq f(m+1, n+1) \left(\sum_{x=m+2}^{\infty} \sum_{y=n+2}^{\infty} g(x, y) \sqrt{z(x, y)} \right) + h(m+1, n+1). \end{aligned} \quad (25)$$

Now keeping m fixed in (25), set $n = t$ and sum over $t = n, n+1, \dots, q-1$ to obtain

$$\begin{aligned} & \left[\sqrt{z(m, n)} - \sqrt{z(m+1, n)} \right] - \left[\sqrt{z(m, q)} - \sqrt{z(m+1, q)} \right] \\ & \leq \sum_{t=n+1}^q \left[f(m+1, t) \left(\sum_{x=m+2}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \sqrt{z(x, y)} \right) + h(m+1, t) \right]. \end{aligned} \quad (26)$$

Noting that $\lim_{q \rightarrow \infty} \sqrt{z(m, q)} = \lim_{q \rightarrow \infty} \sqrt{z(m+1, q)} = c + \epsilon$, and by letting $q \rightarrow \infty$ in (26) we get

$$\begin{aligned} & \left[\sqrt{z(m, n)} - \sqrt{z(m+1, n)} \right] \\ & \leq \sum_{t=n+1}^{\infty} \left[f(m+1, t) \left(\sum_{x=m+2}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \sqrt{z(x, y)} \right) + h(m+1, t) \right]. \end{aligned} \quad (27)$$

Keeping n fixed in (27), set $m = s$ and sum over $s = m, m+1, \dots, p-1$ to obtain

$$\sqrt{z(m, n)} - \sqrt{z(p, n)} \leq \sum_{s=m+1}^p \sum_{t=n+1}^{\infty} \left[f(s, t) \left(\sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \sqrt{z(x, y)} \right) + h(s, t) \right]. \quad (28)$$

Noting that $\lim_{p \rightarrow \infty} \sqrt{z(p, n)} = c + \epsilon$, and by letting $p \rightarrow \infty$ in (28) we get

$$\sqrt{z(m, n)} \leq \phi_*(m, n) + \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} f(s, t) \left(\sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \sqrt{z(x, y)} \right), \quad (29)$$

where $\phi_*(m, n) = c + \epsilon + \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} h(s, t)$. From (29) it is easy to observe that

$$\frac{\sqrt{z(m, n)}}{\phi_*(m, n)} \leq 1 + \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} f(s, t) \left(\sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \frac{\sqrt{z(x, y)}}{\phi_*(x, y)} \right). \quad (30)$$

Define $v(m, n)$ by

$$v(m, n) = 1 + \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} f(s, t) \left(\sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \frac{\sqrt{z(x, y)}}{\phi_*(x, y)} \right). \quad (31)$$

From (31) and (30) it is easy to observe that

$$\begin{aligned} & [v(m, n) - v(m+1, n)] - [v(m, n+1) - v(m+1, n+1)] \\ & \leq f(m+1, n+1) \left(\sum_{x=m+2}^{\infty} \sum_{y=n+2}^{\infty} g(x, y) \right) v(m+1, n+1). \end{aligned} \quad (32)$$

From the definition of $v(m, n)$ given in (31) we observe that $v(m+1, n+1) \leq v(m+1, n)$ for $m, n \in N_0$. Using this in (32) we observe that

$$\begin{aligned} & \frac{[v(m, n) - v(m+1, n)]}{v(m+1, n)} - \frac{[v(m, n+1) - v(m+1, n+1)]}{v(m+1, n+1)} \\ & \leq f(m+1, n+1) \sum_{x=m+2}^{\infty} \sum_{y=n+2}^{\infty} g(x, y). \end{aligned} \quad (33)$$

Now keeping m fixed in (33), set $n = t$ and sum over $t = n, n+1, \dots, q-1$ to obtain

$$\begin{aligned} & \frac{[v(m, n) - v(m+1, n)]}{v(m+1, n)} - \frac{[v(m, q) - v(m+1, q)]}{v(m+1, q)} \\ & \leq \sum_{t=n+1}^q f(m+1, t) \left(\sum_{x=m+2}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \right). \end{aligned} \quad (34)$$

Noting that $\lim_{q \rightarrow \infty} v(m, q) = \lim_{q \rightarrow \infty} v(m+1, q) = 1$, and by letting $q \rightarrow \infty$ in (34) we get

$$\frac{v(m, n) - v(m+1, n)}{v(m+1, n)} \leq \sum_{t=n+1}^{\infty} f(m+1, t) \left(\sum_{x=m+2}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \right). \quad (35)$$

From (35) we have

$$v(m, n) \leq v(m+1, n) \left[1 + \sum_{t=n+1}^{\infty} f(m+1, t) \left(\sum_{x=m+2}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \right) \right]. \quad (36)$$

Now keeping n fixed in (36), set $m = s$ and sum over $s = m, m+1, \dots, p-1$ successively to obtain

$$v(m, n) \leq v(p, n) \prod_{s=m+1}^p \left[1 + \sum_{t=n+1}^{\infty} f(s, t) \left(\sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \right) \right]. \quad (37)$$

Noting that as $p \rightarrow \infty$, $v(p, n) = 1$, and letting $p \rightarrow \infty$ in (37) we have

$$v(m, n) \leq \prod_{s=m+1}^{\infty} \left[1 + \sum_{t=n+1}^{\infty} f(s, t) \left(\sum_{x=s+1}^{\infty} \sum_{y=t+1}^{\infty} g(x, y) \right) \right]. \quad (38)$$

The desired inequality in (13) now follows by using (38) in (30), the fact that $u(m, n) \leq \sqrt{z(m, n)}$ and by taking $\epsilon \rightarrow 0$. This completes the proof of (vi).

4. An application. In this section we present an application of our inequality given in Theorem 1 part (i) to obtain bound on the solution of the following sum-difference equation

$$y^2(n) = p(n) + \sum_{s=n+1}^{\infty} k(n, s) y(s) F(s, y(s)), \quad n \in N_0, \quad (39)$$

where $p: N_0 \rightarrow R$, $k: N_0 \times N_0 \rightarrow R$, $F: N_0 \times R \rightarrow R$. We assume that

$$|p(n)| \leq c^2, \quad |k(n, s) F(s, y(s))| \leq 2 [f(s)|y(s)| + h(s)], \quad (40)$$

where f, h and c are as defined in Theorem 1. From (39) and (40) we obtain

$$|y(n)|^2 \leq c^2 + 2 \sum_{s=n+1}^{\infty} [f(s)|y(s)|^2 + h(s)|y(s)|]. \quad (41)$$

Now an application of the inequality given in Theorem 1 part (i) to (41) yields

$$|y(n)| \leq c \prod_{t=n+1}^{\infty} [1 + f(t)] + \sum_{s=n+1}^{\infty} h(s) \prod_{t=n+1}^{s-1} [1 + f(t)], \quad n \in N_0. \quad (42)$$

The inequality (42) gives the bound on the solution $y(n)$ of equation (39) in terms of the

known functions.

Finally, we note that the inequalities established in Theorem 2 can be extended very easily to functions of several independent variables. We also note that there are many possible applications of the inequalities established in Theorems 1 and 2 to certain new classes of difference and sum-difference equations. However, the discussion of such applications is left to another place.

REFERENCES

1. P.R. Beesack, "Gronwall Inequalities", Carleton University Mathematical Lecture Notes, No. 11, Northfield Minn., 1975.
2. A. Corduneanu, *A discrete integral inequality of the convolution type*, Bull. Inst. Politechnic Iași 33(1987), 35-40.
3. S.S. Dragomir, *Nonlinear discrete generalizations of Gronwall's inequality*, An. Univ. din Timișoara Ser. Sti. Mah. 29(1991), 45-50.
4. A. Mate and P. Nevai, *Sublinear perturbations of the differential equation $y^{(n)} = 0$ and of the analogous difference equations*, J. Differential Equations 53(1994), 234-257.
5. B.G. Pachpatte, *Finite difference inequalities and their applications*, Proc. Nat. Acad. Sci. India 43(A)(1973), 348-356.
6. B.G. Pachpatte, *On Bihari like integral and discrete inequalities*, Soochow Jour. Math. 17(1991), 213-232.
7. B.G. Pachpatte, *On certain new finite difference inequalities*, Indian J. Pure Appl. Math. 24(1993), 373-384.
8. B.G. Pachpatte, *On some new inequalities related to certain inequalities in the theory of differential equations*, J. Math. Anal. Appl., to appear.
9. H. Poincaré, *Sur les equations lineaires aux differentielles et aux differences finies*, Amer. J. Math. 7(1885), 203-258.
10. S. Sugiyama, *On the stability problems of difference equations*, Bull. Sci. Engin. Research Lab. Waswda Uni. 45(1969), 140-144.